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	0,25 + 0,75 = 1

5,25 + 0,75 = 6

8,25 + 1,75 = 10
	0,35 + 0,65 = 1

0,48 + 0,52 = 1

3,71 + 3,29 = 7
	14,25+ 5,75 = 20

14,31+ 15,69 = 30

42,84+ 57,16 = 100


1./ Entoure l’ordre de grandeur du résultat des additions suivantes :

9,17 + 1,055 = ?

	
	2 000
	
	20
	
	10
	
	100
	


0,99 + 1,032 = ?

	
	2
	
	1
	
	10
	
	20
	


8,069 + 0,806 = ?

	
	16 000
	
	9
	
	16
	
	0,008
	


99,4 + 10,69 =?

	
	100
	
	2 000
	
	20
	
	110
	


0,01 + 0,9 + 0,09 = ?

	
	1
	
	10
	
	1 000
	
	0,1
	


239,6 + 50,3 + 19,71 = ?

	
	45 500
	
	300
	
	250
	
	310
	


19,008 + 4,953 + 7,9 =?

	
	30
	
	23 000
	
	32
	
	35
	


2./ Pose en colonnes et calcule les additions suivantes :

	9,17 + 1,055 = ……………
	0,99 + 1,032 = ……………
	8,069 + 0,806 = ……………

	
	
	
	
	
	

	99,4 + 10,69 =……………
	254,74 + 963,571 = ……………
	0,048 + 0,704 = ……………

	
	
	
	
	
	

	0,01 + 0,9 + 0,09 = ……………
	239,6 + 50,3 + 19,71 = ……………
	19,008 + 4,953 + 7,9 = ……………

	
	
	
	
	
	


